6 ThiGEE

(1) #3EHK

BIAFEICB T HHSGELOFEIL. Tl 7 FEIMHR T, WINbIEFEHEXETHY . |l
FEFELAKER>TND,

Mo R Mk 4 TR S
o 55 T B oo MG e AL, (FER - KPEY - %)
(1F% 2 o - (5 s A A T 4

P T T K PEM I 5 TS e

A TR EEM T ENFE T AL R TE 45

O H 5 E T T R R T T 5

# 77 #5e % Al T HJ57 ETE M R T a5

(6 H3 7 Jitinx
KT T KATJART T E7E T (B3

oIl HY ) ET T E5E TS OKEEW)

Fe = [ T P = PR #J7 EIFE i OKEERD)

(2) Tk OF R

EMEHR T4 1759, 332t 7T, AIFEEICH~N4758, 183t (10. 3%) A LTWD,
ZONTIT, HERWNP 1375666 t, KEWMNR2656, 262 t, BA-HBIF- Z2OMMR2 77
2,404 t R0 TVD AIFEICHERYN 171,634 t(8.2%) KEWMNIT6,899t
(12. 2%) ZNENREADLTEBY, BH - B - Z0OMmnA350t (1. 6%) HIMLTWD,
M BT 1, 95 8{E85H M T, BIFEEICH~1 9/E83EHE M (1. 0%) ¥imLTW\5b,
ZTONRIT, ERMN3 476 7THIM, KEWN1, 30044 8HITM., BA - HBIF - T DM
3107 O0OELMT, AHEEICHANERYN 1 AEB7EIM (3. 9%) A L, KE®H»2 06 55
JH (1. 6%)., B - BIF - ToM2n1 3255 5M (4. 5%) ThENEIML T\ D,

Fo. TGPAMREREITECER 1 248, (PEZEE 1 4 14, BESMAN L, 29 0 A, BHEFEE
FEN4A 1T NERSTND,
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H1ER FAHMRILOHER

G 3 XA LA

H30 [#kke| R1 0 |[#kk| R2 |HERE| R3 [MERRKE] R4 [FEs] (2)-(1) |((3)/(1)

HOH (%) (%) (%) (MW (%) @) (%) (3)| x100(%)
W& S | 165072 31.9] 162412 32.9| 156912 31.7| 142,300| 30.4| 130,666 31.2| A11,634 A82
Wk PE | 330339 637 309462 62.7| 315595 63.8] 303,161| 64.8| 266,262| 635 A36899 Al122
EORA I O] 22787 4.4 22,038 45| 22541 46| 22,054 47| 22404 5.3 350 1.6
(1) B 518,198 100.0| 493912| 100.0| 495048| 100.0| 467,515| 100.0| 419,332 100.0| A48183| A103
7 |E IS | 41936 203 41250 21.4| 39,127 205| 36,174 187 34767 17.7] A1407 A39
ok PE Y| 134732| 652 123507 640 122,903| 64.5| 127983 66.0] 130,048| 66.4 2,065 1.6
EO|lE A B - = O] 30059 145 28262 146 28593 150] 29,745| 153| 31,070 159 1,325 45

(&) # 206,727 100.0| 193,019] 100.0| 190,623| 100.0| 193,902 100.0[ 195885 100.0 1,983 1.0

moE ¥ E (b 14 - 14 - 13 - 12 - 12 - 0 0.0

H ] ¥ FH (b 149 - 145 - 143 - 142 - 141 - Al A07
Ea

e ' oz om AN (N 1,439 - 1,380 - 1,347 - 1,322 - 1,290 - A32 A24
P2

B E F ¥ EH (N 42 - 42 - 42 - 41 - 41 - 0 0.0

(F) HFRWILTEE )+ DR KEDUKEY | B 3850 - € O TSR - B - IR + T2 of ) 20),

(3) MEEIRDL

TS OIS 1T 31T HRRINSIE 3 2183 8 H FH T AMEE TR 2/E7 1 H M (9. 1%)
ML T, MEMIZ26{E7 9E T, AFEEICH3MEAELIM (1 2. 8%) ML TWD,
ZORER, WEZESITIESMES 9F THORT LD | AIEEICHA_ETN3 3HEHM (5. 5%)
HLTWD,

Fo, BAPPSICBIT DAL 1{85 2 @M T, ATFEEIZHEX6EI 7TH M (37, 7%)
AL TR, ZHIF1 72075 HHT, AMEEICHT7TE1I 1 ELTM (29. 2%) P LTn5,
ZOFER, N ESITIE5 M6 SHAMHORT LD | BIFEEICHANRTN 147 HM (2. 3%) W
HLTWD,

INZSHIIN S & EARBIIN X 2 SIS BA8NT 9 B ORT T, ZAUTHTARE D & Ml R A%
AL EENCATI 2HEAMAORTFTERY | AIEEIZHA~N3EHELTM (62. 0%) B LTWD,

¥, PASHIIGCHHRIE 8 8. 4% T, FIMEEICH~2. 1 RS M EF LTS,
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2K MG FEEONIRIOHES

(BN 5, Y. N)

O TR B L

H30 R1 R2 R3 R4 (2)-(1) | ((3)/(1)

HOH (1) (2) (3) X100
& I A 2,892 2,915 2,945 2,967 3,238 271 9.1
U = £ 1 A 1,849 1,752 1,787 1,859 1,821 A38 A2.1
)% Ik A& 0w A 1,830 1,733 1,768 1,839 1,801 A39 A21
Z FE T o#E N 0 0 0 0 0 0 -
A bz %) it 19 19 20 20 20 0 2.4
AlE 2 4 I % 1,043 1,162 1,158 1,108 1,417 309 27.9
1 IH fith = EH AR A& 537 723 722 680 867 187 27.4
& # A B 2,387 2,411 2,363 2,375 2,679 304 12.8
I | 32 |5 £ by )is| 2,217 2,264 2,200 2,246 2,559 313 13.9
YL B K5 & 371 389 364 359 367 8 2.1
XltlE % 4 A 170 147 164 129 120 A9 A72
2 b X R R 159 140 124 111 100 Al A93
X X #= 5 (A-B) C 505 504 582 592 559 A33 A55
' K W I A D 1,336 997 1215 1,849 1,152 A697 A37.7
| U | 7 & 709 478 778 1,129 502 AG627 A556
fin = F # A & 507 475 435 468 411 A56 A120
%N T £ &2 #H & 0 0 0 0 0 0 -
A WM B & 117 42 0 251 237 Al4 A55
Y e 75) fih, 2 2 3 2 2 A0 A30
g K M X W OE 1,840 1,500 1,820 2,431 1,720 A711 A292
7] < OB W B O 831 522 822 1,368 734 A634 A46.3
o5 EEE & e 1,004 976 994 1,061 984 A77 A73
53 . e 75) 1t 5 2 4 2 2 A0 A133
I % # 5 (OE F A504 A503 A605 A582 A568 14 A23
X X #F #= 5 (€ 1 1 A23 10 A9 A19 -
Ui ST 4 H 7 4 4 4 5 0 8.9
AR E 22 b o M & 1 10 5 31 4 9 6 146.6
[ETIG SR S s o O | 0 0 0 0 0 0 -
o A e X (G-HH-)) K 5 1 4 9 2 A3 A79.6
VR BT REHE L 0 0 1 5 0 A5 -
¥ OHE It X (KL 5 1 3 5 2 A3 A620
5 IR £ 5 1 3 5 2 A3 A62.0
AP S 5 0 0 0 0 0 0 -
Ik = 4 45 49 60 60 62 2 33
IV 28 9 U 3 b % A/(Bte) 85.3 86.1 87.7 86.4 88.4 2.1 -
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